Geometry
Chapter 8 Review

Find the area of the given shapes.
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Find the area of the given shapes.
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Find missing dimension given the following.
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15.) Regular Heptagon, A = 8820in?.
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17.) A = 135m?, find the other diagonal.
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16.) Regular Octagon. A = 3360ft2.
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18.) A = 121m ft?, find the circumference.




Find missing dimension given the following.
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21.) The area of a square is 169ft. Find 22.) The area of a rectangle is 147m? and the width is 7cm.
the perimeter of the square. Find the length.
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Find the area of the following sectors.
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25.) The scale factor of AAND to AFOR is 7:9. What is the ratio of the area of AAND to the area of AFOR?
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26.) The scale factor of ABOT to AALD is 5:7. What is the ratio of the area of ABOT to the area of AALD?
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Find the area of the complex figures.
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Find the area of the shaded region.
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